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Q1) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the importance of non-conventional energy source for the present energy scenario.

b) Explain Installation and maintenance of Solar Power Plant.

c) Discuss the power generation by using gasifires.

Q2) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain basic conversion technologies of Biomass and its application.

b) Explain direct energy conversion system of Magneto Hydrodynamics and its application.

c) What is Hydro energy? Differentiate between horizontal and vertical axis turbine.

Q3) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain principal of solar photo-voltaic energy conversion and the application of solar energy field.

b) Explain basic conversion technologies of wind energy and its application.

c) Explain direct energy conversion systems of fuel cell and its application.

Q4) Attempt any two parts of the following : [2 × 4 = 8]

a) Write principle of conversion of solar radiation and application of solar energy.

b) Explain the closed cycle system Ocean Thermal Energy Conversion (OTEC).

c) Explain basic conversion technologies of Tidel energy and its application.

Q5) Write short notes - any three parts of the following : [3 × 4 = 12]

a) Geo-Thermal Energy.

b) Solar Furnace.

c) Local control used in wind turbine.

d) Solar Lighting.

Time : 2.30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students in not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZmo Ho$ CÎma Xo &

à.à.à.à.à.1) {ZåZ _| go {H$Ýhr Xmo ^mJmo Ho$ CÎma Xo - [2 × 5 = 10]

A) dV©_mZ D$Om© n[aÕí` Ho$ {bE J¡a nm§an[aH$ D$Om© ñÌmoV Ho$ _hËd H$s ì`m»`m H$a| &

~) gm¡a D$Om© g§`§Ì H$s ñWmnZm Am¡a aIaImd H$s ì`m»`m H$a| &

g) J¡gm© \$m`a Ho$ Cn`moJ go {~Obr CËnmXZ na MMm© H$a| &

à.à.à.à.à.2) {ZåZ _| go {H$Ýhr Xmo ^mJmo Ho$ CÎma Xo - [2 × 5 = 10]

A) ~m`mo_mg H$s ~w{Z`mXr ê$nm§VaU VH$ZrH$m| Am¡a CgHo$ AZwà`moJm| H$s ì`m»`m H$a| &

~) _¡½ZoQ>mo hmBS´>moS>m`Zm{_H$ H$s àË`j D$Om© g§ajU àUmbr VWm CgHo$ AZwà`moJm| H$s ì`m»`m H$a| &

g) Ob D$Om© Š`m h¡? j¡{VO Am¡a D$Üdm©Ya Aj Q>m~m©BZ Ho$ ~rM AV§a H$a| &

à.à.à.à.à.3) {ZåZ _| go {H$Ýhr Xmo ^mJmo Ho$ CÎma Xo - [2 × 5 = 10]

A) gm¡a àH$me dmoëQ>r` D$Om© g§ajU Ho$ {gÕmÝV Am¡a gm¡a D$Om© joÌ Ho$ AZwà`moJ H$s ì`m»`m H$a| &

~) ndZ D$Om© H$s ~w{Z`mXr ê$nmV§aU VH$ZrH$m| Am¡a CgHo$ AZwà`moJm| H$s ì`m»`m H$a| &

g) BªYZ gob H$s àË`j D$Om© g§ajU àUmbr VWm CgHo$ AZwà`moJm| H$s ì`m»`m H$a| &

à.à.à.à.à.4) {ZåZ _| go {H$Ýhr Xmo ^mJmo Ho$ CÎma Xo - [2 × 4 = 8]

A) gm¡a {d{H$aU Ho$ ê$nmV§aU Ho$ {gÕm§V Am¡a gm¡a D$Om© Ho$ AZwà`moJ {bIo &

~) ~§X MH«$ àUmbr _hmgmJa Vmnr` D$Om© ê$nmV§aU H$s ì`m»`m H$a| &

g) Ádma D$Om© H$s ~w{Z`mXr ê$nmÝVaU VH$ZrH$m| Am¡a CgHo$ AZwà`moJm| H$s ì`m»`m H$a| &

à.à.à.à.à.5) {ZåZ _| go {H$Ýhr VrZ na g§{já {Q>ßnUr {bIo - [3 × 4 = 12]

A) ^y - Vmnr` D$Om©

~) gm¡a - ^Å>r

g) ndZ Q>a~mBZ _| ñWmZr` {Z`§ÌU H$m à`moJ

X) gm¡a - àH$me
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